5.5 Modeling with Trigonometric Functions:

Johnny gets on a Ferris Wheel, it has a radius of 25 m and the centre is
30 m of the ground. Two complete revolutions take 180 seconds.
Johnny gets on the Ferris Wheel at the bottom.

a. Graph Johnny’s height, h, at any time t.
b. Write a sinusoidal function that represents Johnny’s height h at
any time t.
c. Predict Johnny’s height at 152 seconds
d. What is the first time that Johnny is 20 m off the ground.
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The maximum height of a tide at Tofino on a certain day is
60 cm, this occurs at 1AM. The next low tide is 10 cm and this occurs at 8 AM.
a. Graph the height of the water, h at any time, .
b. Determine a sinusoidal function of the height of the water, h at any time, &
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